INOX

Stainless
Steel

WRXRBRWTRY FM

- T e B R B i R (PA)E R R AR F AT AR, WHEA, AL
. AR AR E A A

- BheAr ke, TAEDNT,

- BRHRAEM AT ENFH, KT —FErgostylediie, miWHH,
- BHRERAEMEEES, FRALHIREL, FREEBERS, £E
HHH &,

AISIB03 R B s, Tk, H4UNIKISTISO4753H %,
BRI RAEAE F S E 4, AISIS02A 559 By # 5%,

ERX.SST-p

ELESA &€& it

FHEGBTHRZZAMCE, 5w AT IR HFNR,

RAXRZAEPHAAE, LEREFR, RARERENER, RE
At E, A FHM, BEURRENSERBXES, BBEHEF
W, wk Ao ANBRIEFER, KRRFAREREX2HE, AN,

i HIE B A A b,
r| T N .
- * o Bol A (% 0307 3 #),
I * < I
N
- o
! !
d
N THR AR, HEARBRRA, A RENTEEIR TR LR
- 2,3 FR ).,
| T g 25471 .
235221-C2 ERX.44 SST-p-M6x16-C2
O @ 00000 - S )— :I WA E B TR A,
L C1:RAL7021 C2:RAL2004 C3:RAL7035 C4:RAL1021 C5:RAL5024 C 6é: RAL 3000
—- - s 1
R A RS R EE
XD a Bl = a
235221 - | ERX 44 SST-0-M6x16 - M6 16 14
25231 . | ERX44SSTONGRS. |44 52 155 325 3% 295 6 25 12 1 e b 18 .
235431 - | ERX.63 SST-p-M8x16 - M8 16 31
235436 - | ERX.63 SST-p-M8x20 - M8 20 32
21 | ERXG3SSToMaes. |63 735 19 4 47 ;5 8 45 15 135 V3 ”: 20 =
235446 - | ERX 63 SST-p-M8x30 - M8 30 36
235716- | ERX.78 SST-p-M10x20 - M10 20 58
235726 - | ERX.78 SST-p-M10x30 - M10 30 64
235736 - | ERX.78 SST-p-M10x40 - M10 40 67
25771 | ERX 78 SSToMI2G0.| 78 %05 28 54 88 47 12 44 19 16 Mo 30 24 i
235781 - | ERX.78 SST-p-M12x40 - M12 40 77
235786- | ERX.78 SST-p-M12x50 - M12 50 79
235901 - | ERX.95 SST-p-M12x30 - M12 30 87
235011 - | ERX.95 SST-p-M12x40 - M2 40 90
25001 | ERX 95 SSToMIE0. | %6 109 265 645 69 545 13 53 215 18 Mo G 26 03
235941 - | ERX.95 SST-p-M12x70 - M12 70 98

AT EMTEFREF R FECERANHER T,

“‘ELESA” and "GANTERGRIFF" models all rights reserved in accordance with the law. Always mention the source
when reproducing our drawings.

‘€lesa-BANTIR ]




